No . R¢ d"dg as J""’ A M('

tham R Scores e D2¢
Aetion Ceater -rlauaaz

- 6rc«,¢ 'r‘w: “,‘L (,, o ,” J
/f'-* Due ana, o

Oﬁt’c-c_ ‘rs‘ Voo



Iatroduc el Mom entum P:#\l'/'

-

rewrote pecton's ,‘t"(..‘_, ,‘:;_ ggt
A ey u//zs:« mc’mtu.a of ““Z‘

'R Momealum Same
e

o f Ao exteraal fonn Mow Patuam, Coaserved




P; = mﬁ'i'iu Ps . .?MJ;K

P..' ¥ P& momea tum not |
conserved 3o cassot

Aoppes



(D p: ' :
aftes ‘ ﬁ ﬁ Total! p=9o

@ not pDJJ :'é/eJ C{Mﬂot ﬁdlh ;gﬂ E/‘yx | -



At a'F 2.0 m. a‘ove ’foua( Ie

e ’
rcgouals to o ‘ec'd'(- of /.5"44. 4)4'43 ‘
| ‘0‘3 t‘e 409/‘0 7 e *0/‘ “ f( ‘f te£ B |




11eq Suod-3urd au3 dojs 03 oﬁuam& Saxe1 I (D
"QUIT) QUIES A oye1 og (g
“Ireq Suod- wqa o dogs 03 owy $89] s I (V

i Areduroo Eoﬂ dois 0y speArayuT

Quwin) o& Op MOH “yoea dojs 0) 92I0] qWeS AY) 119X
NOA pUR ‘WNUSWIOW SUIRS 1) 9ARY )0 TNOA PIRMO)
3uryjo1 are [Teq Surjmoq & pue [[eq Suod-Surd e asoddng

uonsang) JANORINUJ



UOTJRULIOJUT QIOWI PIU ((J
- QOURIRIJIP Ou sayeur (D
Annd Jo TTeq oy (4

[[eq Ioqqnr ) (V

i uid Surmoq 2y 91ddoy

0} AToI] 1SOWI ST [[eq YOIy M urd oy 03 syons Annd Jo Teq
AU} [IYM “YOoBQq $A0UNOQ [[eq Xqqni ayJ, "Annd Jo 19710
o) PUB IoqqnI JO SPBUW SUO ‘SSEWr: pue 9ZIS [enbe Jo s[eq
oM} sey uosiad oy, ﬁ E :mm_ e @5385 Aq urd Surmoq
a@voo owﬁﬁ ) Ssoc Mooﬁ 0} maaoﬁw momgmm \V4

uonsan() o>ﬁo§8&



) A 7ak01 {atl back allempts TO Hryve

oV er ;‘4( line Ql'(‘& Ve/oert, of ‘.OM‘

e ¢s met 6; a //okz [1ne back er
mam'az at Y40 m/s iIn oﬂaohl‘e &y eetron
‘f‘c /rnebackes, Aolds on to “he Fultback

Does tlc Feutl ba <k sco/‘e,?

momeatum (5 conserved

Y0kq noky Aty
£n = P
— < psnv

--l? bnls “m/s

v

Pz MV - Mbel

P; S MYL A, e 3("”'»';)0_;,

P = (7“’ 164;/5) » é/ok; 1— 70}’})

)




kinetic ener g 214 Mo et um




- Interactive Question

A car accelerates from rest. In doing so the car gains a
certain amount of kinetic energy and the Earth gains

A) more kinetic energy.
B) the same amount of kinetic energy.
C) less kinetic energy.
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